BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE PAVING IMPROVEMENTS FOR CARTWRIGHT MAYS, PHASE 1 AND FM 148 KAUFMAN COUNTY FRESH WATER SUPPLY DISTRICT NO. 7A CITY OF CRANDALL E.T.J., KAUFMAN COUNTY, TEXAS SEPTEMBER 4, 2024

SEPTEMBER 4, 2024 LJA ENGINEERING, INC. S.BOOTH SEPTEMBER 4, 2024 NTD307A-0061D

BIDDER'S NAME	TOTAL AMOUNT BID	CALENDAR DAYS	CONTRACTOR SCHEDULE
1) PAVECON PUBLIC WORKS, LP	\$1,370,568.75	50/15	NOT PROVIDED
2) RPM XCONSTRUCTION	\$1,499,298.50	65/15	OCTOBER 1, 2024
3) GILCO CONTRACTING	\$1,535,829.40	40/10	FEBRUARY 2025
4) L.H. LACY COMPANY, LTD.	\$1,540,571.31	55/15	MARCH 2025
5) TISEO PAVING	\$1,628,501.35	60/30	JANUARY 2, 2025
6) MIDKIFF HOLDINGS LLC DBA GM CONSTRUCTION	\$1,718,954.55	70/15	NOT PROVIDED
7) MARIO SINACOLA & SONS EXCAVATING, INC.	\$1,813,557.95	50/15	JANUARY 5, 2025

I, Jaison M. \$tephen, P.E., hereby certify these bid tabulations to be true and correct.

JAISON M. STEPHEN

90308

CENSE
ONAL ENGL

9.4.2024

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE PAVING IMPROVEMENTS FOR CARTWRIGHT MAYS, PHASE 1 AND FM 148 KAUFMAN COUNTY FRESH WATER SUPPLY DISTRICT NO. 7A CITY OF CRANDALL E.T.J., KAUFMAN COUNTY, TEXAS SEPTEMBER 4, 2024

LJA ENGINEERING, INC. S.BOOTH SEPTEMBER 4, 2024 NTD307A-0061D

1) PAVECON PUBLIC WORKS, LP

2) RPM XCONSTRUCTION

3) GILCO CONTRACTING

ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	♦ UNIT COST	TOTAL COST
A. PAVING IMPROVEMENTS									
1 6" REINFORCED 3 2 6" LIME STABILIZE 3 HYDRATED LIME	0.600 PSI CONCRETE PAVEMENT W/ 6" CURB AND GUTTER ED SUBGRADE (36 LB/SY) ES SIDEWALK (4" THICK) AMP (TYPE 1) AMP (TYPE 2) AMP (TYPE 3) DE EMENT HEADER  3N E BLADE	SY SY TON SY EA EA EA EA EA EA	14571 15534 280 300 9 7 1 4 4 14 2 16	\$48.19 \$4.44 \$335.68 \$74.88 \$2,927.10 \$2,927.10 \$2,654.10 \$470.40 \$139.69 \$139.69 \$139.69 \$144.39	\$702,176.49 \$68,970.96 \$93,990.40 \$22,464.00 \$26,343.90 \$20,489.70 \$2,927.10 \$10,616.40 \$1,881.60 \$1,955.66 \$279.38 \$2,950.24 \$7,599.04	\$57.00 \$3.50 \$315.00 \$67.00 \$2,100.00 \$2,000.00 \$2,000.00 \$2,100.00 \$75.00 \$75.00 \$75.00 \$450.00	\$830,547.00 \$54,369.00 \$88,200.00 \$20,100.00 \$14,000.00 \$14,000.00 \$2,000.00 \$2,400.00 \$1,050.00 \$1,050.00 \$2,800.00 \$7,200.00	\$48.90 \$4.30 \$315.00 \$71.15 \$3,315.00 \$1,995.00 \$1,500.00 \$500.00 \$200.00 \$200.00 \$185.00 \$518.00	\$712,521.90 \$66,796.20 \$88,200.00 \$21,345.00 \$29,835.00 \$13,965.00 \$3,235.00 \$6,000.00 \$2,000.00 \$2,800.00 \$400.00 \$2,960.00 \$8,288.00
A. PAVING IMPROVEME				******	\$962,644.87	,	\$1,050,116.00	*******	\$958,346.10
B. FM 148 TX-DOT IMPR					\$302,044.07		\$1,030,110.00		\$330,340.10
1 R.O.W PREPARA' 2 1' WIDE MILL OF IE 3 EMBANKMENT 4 2" TYPE C HMAC 5 4" TYPE C HMAC 6 8" FLEXBASE (TY) 7 SUBGRADE WIDE 8 DOUBLE 6" SOLID 9 6" SOLID WHITE 5 10 8" SOLID WHITE 5 11 EDGE LINE RUME 12 RIGHT TURN ARR 13 LEFT TURN ARR 14 "ONLY" PAVEMEN 15 R4-1 SIGN W/ PO 16 W1-4R SIGN W/ P 17 W13-1P SIGN W/ 18 TRAFFIC CONTRO	TION EXISTING 2" HMAC  (ITEM NO. 3 & DRIVEWAY REPLACEMENTS)  D GR 1-2) NING (ORDINARY COMPACTION) PYELLOW STRIPE W/ TYPE II-A-A MARKERS STRIPE STRIPE W/ TYPE 1-C MARKERS  LE STRIPS OW PAVEMENT MARKING WP PAVEMENT MARKING IT MARKING ST & ANCHOR SYSTEM POST & ANCHOR SYSTEM POST & ANCHOR SYSTEM POST & ANCHOR SYSTEM	ACY SY SY SY LF LF LF EA EA EA EA LS	5 527 1790 706 2602 2954 2954 3570 4107 1402 4282 2 4 6	\$3,662.81 \$37.46 \$14.75 \$26.34 \$36.42 \$41.25 \$3.07 \$4.88 \$1.96 \$2.74 \$2.24 \$502.89 \$663.75 \$854.90 \$854.90 \$854.90 \$6,687.70	\$18,314.05 \$19,741.42 \$26,402.50 \$18,596.04 \$94,764.84 \$92,312.50 \$9,068.78 \$17,421.60 \$8,049.72 \$3,841.48 \$9,591.68 \$1,005.78 \$2,011.56 \$3,922.50 \$1,709.80 \$1,709.80 \$1,709.80 \$6,687.70	\$5,250.00 \$50.00 \$21,50 \$36.00 \$36.00 \$30.00 \$2,50 \$5.00 \$2,50 \$3.50 \$3.50 \$175.00 \$175.00 \$185.00 \$500.00 \$525.00	\$26,250.00 \$26,350.00 \$38,485.00 \$24,710.00 \$93,672.00 \$88,622.00 \$7,385.00 \$17,850.00 \$10,267.50 \$4,907.00 \$12,846.00 \$350.00 \$1,110.00 \$1,100.00 \$1,000.00 \$1,050.00 \$130.00	\$1,000.00 \$64.75 \$13.50 \$124.75 \$63.85 \$27.45 \$4.80 \$4.60 \$1.85 \$2.60 \$2.10 \$475.00 \$475.00 \$615.00 \$920.00 \$920.00 \$920.00	\$5,000.00 \$34,123.25 \$24,165.00 \$88,073.50 \$166,137.70 \$81,087.30 \$14,179.20 \$16,422.00 \$7,597.95 \$3,645.20 \$8,992.20 \$950.00 \$1,900.00 \$3,690.00 \$1,840.00 \$1,840.00 \$1,840.00 \$55,000.00
	OVEMENTS SUBTOTAL:				\$336,861.55		\$395,682.50		\$516,483.30
3 MAINTENANCE B	AND PAYMENT BONDS - 100%	LS LS LS	1 1	\$54,299.61 \$13,410.18 \$3,352.54	\$54,299.61 \$13,410.18 \$3,352.54 <b>\$71,062.33</b>	\$30,000.00 \$20,000.00 \$3,500.00	\$30,000.00 \$20,000.00 \$3,500.00 \$53,500.00	\$40,000.00 \$16,000.00 \$5,000.00	\$40,000.00 \$16,000.00 \$5,000.00 <b>\$61,000.00</b>
					φ/ 1,002.33		φου,ουυ.00		φο 1,000.00
1 REMOVE 24" REIN 2 24" REINFORCED 3 REMOVE 24" SET 4 24" SET-PD	IFORCED CONCRETE PIPE CULVERT CONCRETE PIPE CULVERT PPD  TX-DOT IMPROVEMENTS SUBTOTAL:	LF LF EA EA	195 195 12 12	\$41.66 \$124.36 \$275.65 \$1,212.34	\$8,123.70 \$24,250.20 \$3,307.80 \$14,548.08 \$50,229.78	\$70.00 \$125.00 \$1,500.00 \$3,500.00	\$13,650.00 \$24,375.00 \$18,000.00 \$42,000.00 \$98,025.00	\$31.00 \$105.00 \$500.00 \$3,000.00	\$6,045.00 \$20,475.00 \$6,000.00 \$36,000.00 \$68,520.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE PAVING IMPROVEMENTS FOR CARTWRIGHT MAYS, PHASE 1 AND FM 148 KAUFMAN COUNTY FRESH WATER SUPPLY DISTRICT NO. 7A CITY OF CRANDALL E.T.J., KAUFMAN COUNTY, TEXAS SEPTEMBER 4, 2024 LJA ENGINEERING, INC. S.BOOTH

2) RPM XCONSTRUCTION

3) GILCO CONTRACTING

SEPTEMBER 4, 2024 NTD307A-0061D

1) PAVECON PUBLIC WORKS, LP

				.,		_,		-,	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	♦ UNIT COST	TOTAL COST
BIDDING SUMMARY									
SUBTOTAL A. PAVING IMPROVEMENTS	3				\$962,644.87	•	\$1,050,116.00		\$958,346.10
SUBTOTAL B. FM 148 TX-DOT IMPROVE	EMENTS				\$336,861.55		\$395,682.50		\$516,483.30
SUBTOTAL C. MISCELLANEOUS IMPRO	VEMENTS				\$71,062.33		\$53,500.00		\$61,000.00
TOTAL AMOUNT BASE BID					\$1,370,568.75		\$1,499,298.50		\$1,535,829.40
ALTERNATE I - FM 148 TX-DOT IMPROV SUBTOTAL ALTERNATE I - FM 148 TX-D					\$50,229.78	CAS	\$98,025.00		\$68,520.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

ALTERNATE I - FM 148 TX-DOT IMPROVEMENTS SUBTOTAL:

CONSTRUCTION OF THE PAVING IMPROVEMENTS FOR CARTWRIGHT MAYS, PHASE 1 AND FM 148 KAUFMAN COUNTY FRESH WATER SUPPLY DISTRICT NO. 7A CITY OF CRANDALL E.T.J., KAUFMAN COUNTY, TEXAS SEPTEMBER 4, 2024

LJA ENGINEERING, INC. S.BOOTH SEPTEMBER 4, 2024

NTD307A-0061D

				4) L.H. LACY CO	MPANY, LTD.	5) TISEO PA	AVING	6) MIDKIFF HOLDING CONSTRU	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
A. PAVING IMPROVEMENTS								,	
	SI CONCRETE PAVEMENT W/6" CURB AND GUTTER	SY	14571	\$50.63	\$737,729.73	\$52.45	\$764,248.95	\$47.75	\$695,765.25
2 6" LIME STABILIZED SUBC		SY	15534	\$3.93	\$61,048.62	\$4.00	\$62,136.00	\$6.40	\$99,417.60
3 HYDRATED LIME (36 LB/S		TON	280	\$316.19	\$88,533.20	\$349.00	\$97,720.00	\$331.00	\$92,680.00
<ul><li>4 5' WIDE CONCRETE SIDE</li><li>5 BARRIER FREE RAMP (TY</li></ul>		SY EA	300 9	\$69.30 \$2,543.87	\$20,790.00 \$22,894.83	\$66.00 \$2,970.00	\$19,800.00 \$26,730.00	\$70.80 \$3,640.00	\$21,240.00 \$32,760.00
6 BARRIER FREE RAMP (TY		EA	7	\$2,545.67 \$2,476.57	\$22,694.63 \$17,335.99	\$2,970.00	\$20,790.00	\$3,040.00	\$22,890.00
7 BARRIER FREE RAMP (TY		EA	1	\$2,465.35	\$2,465.35	\$3,190.00	\$3,190.00	\$3,270.00	\$3,270.00
8 TYPE III BARRICADE	2 0/	EA	4	\$1,507.68	\$6,030.72	\$1,584.00	\$6,336.00	\$2,800.00	\$11,200.00
9 CONCRETE PAVEMENT H	HEADER	EA	4	\$383.51	\$1,534.04	\$850.00	\$3,400.00	\$460.00	\$1,840.00
10 STOP SIGN		EA	14	\$89.00	\$1,246.00	\$93.50	\$1,309.00	\$100.00	\$1,400.00
11 REGULATORY SIGN		EA	2	\$172.76	\$345.52	\$1,881,50	\$3,763.00	\$200.00	\$400.00
12 STEET SIGN NAME BLADI	E	EA	16	\$91.61	\$1,465.76	\$96.25	\$1,540.00	\$105.00	\$1,680.00
13 STREET SIGN POLES		EA	16	\$277.46	\$4,439.36	\$291.50	\$4,664.00	\$320.00	\$5,120.00
A. PAVING IMPROVEMENTS SUI	BTOTAL:				\$965,859.12		\$1,015,626.95		\$989,662.85
B. FM 148 TX-DOT IMPROVEME	ENTS								
1 R.O.W PREPARATION		AC	5	\$4,550.00	\$22,750.00	\$5,500.00	\$27,500.00	\$4,725.00	\$23,625.00
2 1' WIDE MILL OF EXISTING	G 2" HMAC	SY	527	\$77.57	\$40,879.39	\$35.65	\$18,787.55	\$106.00	\$55,862.00
3 EMBANKMENT		CY	1790	\$16.57	\$29,660.30	\$72.60	\$129,954.00	\$23.20	\$41,528.00
	O. 3 & DRIVEWAY REPLACEMENTS)	SY	706	\$117.58	\$83,011.48	\$26.20	\$18,497.20	\$143.50	\$101,311.00
5 4" TYPE C HMAC		SY	2602	\$63.43	\$165,044.86	\$51.75	\$134,653.50	\$76.20	\$198,272.40
6 8" FLEXBASE (TY-D GR 1-		SY	2954	\$25.16	\$74,322.64	\$36.30	\$107,230.20	\$34.30	\$101,322.20
7 SUBGRADE WIDENING (C	ORDINARY COMPACTION) W STRIPE W/ TYPE II-A-A MARKERS	SY LF	2954 3570	\$3.69	\$10,900.26	\$5.50	\$16,247.00	\$10.60	\$31,312.40
9 6" SOLID WHITE STRIPE	W STRIPE W/ TTPE II-A-A WARKERS	LF LF	3570 4107	\$6.54 \$2. <b>62</b>	\$23,347.80 \$10,760.34	\$4.85 \$1.95	\$17,314.50 \$8,008.65	\$5.30 \$2.10	\$18,921.00 \$8,624.70
10 8" SOLID WHITE STRIPE V	W/ TYPE 1-C MARKERS	LF	1402	\$4.14	\$5,804.28	\$2.70	\$3,785.40	\$3.00	\$4,206.00
11 EDGE LINE RUMBLE STRI		LF	4282	\$2.93	\$12,546.26	\$2.70	\$9,420.40	\$3.50	\$14,987.00
12 RIGHT TURN ARROW PAY		EA	2	\$471.15	\$942.30	\$495.00	\$990.00	\$540.00	\$1.080.00
13 LEFT TURN ARROW PAVE		EA	4	\$471.15	\$1,884.60	\$495.00	\$1,980.00	\$540.00	\$2,160.00
14 "ONLY" PAVEMENT MARK	KING	EA	6	\$612.50	\$3,675.00	\$643.50	\$3,861.00	\$700.00	\$4,200.00
15 R4-1 SIGN W/ POST & AN	CHOR SYSTEM	EA	2	\$863.78	\$1,727.56	\$907.50	\$1,815.00	\$980.00	\$1,960.00
16 W1-4R SIGN W/ POST & A		EA	2	\$863.78	\$1,727.56	\$907.50	\$1,815.00	\$980.00	\$1,960.00
17 W13-1P SIGN W/ POST &	ANCHOR SYSTEM	EA	2	\$863.78	\$1,727.56	\$907.50	\$1,815.00	\$980.00	\$1,960.00
18 TRAFFIC CONTROL		LS		\$16,000.00	\$16,000.00	\$20,500.00	\$20,500.00	\$24,800.00	\$24,800.00
B. FM 148 TX-DOT IMPROVEMEN					\$506,712.19		\$524,174.40		\$638,091.70
C. MISCELLANEOUS IMPROVE	MENTS								
1 MOBILIZATION		LS	1	\$35,000.00	\$35,000.00	\$70,700.00	\$70,700.00	\$67,600.00	\$67,600.00
2 PERFORMANCE AND PAY		LS	1	\$31,500.00	\$31,500.00	\$12,000.00	\$12,000.00	\$18,900.00	\$18,900.00
3 MAINTENANCE BOND (2Y		LS	1	\$1,500.00	\$1,500.00	\$6,000.00	\$6,000.00	\$4,700.00	\$4,700.00
C. MISCELLANEOUS IMPROVEN	MENTS SUBTOTAL:	, , , , ,			\$68,000.00		\$88,700.00		\$91,200.00
ALTERNATE I - FM 148 TX-DOT	IMPROVEMENTS								
1 REMOVE 24" REINFORCE	ED CONCRETE PIPE CULVERT	LF	195	\$19.09	\$3,722.55	\$22.00	\$4,290.00	\$43.00	\$8,385.00
2 24" REINFORCED CONCR	RETE PIPE CULVERT	LF	195	\$110.72	\$21,590.40	\$254.10	\$49,549.50	\$138.00	\$26,910.00
3 REMOVE 24" SET-PD		EA	12	\$445.42	\$5,345.04	\$1,980.00	\$23,760.00	\$865.00	\$10,380.00
4 24" SET-PD	<b>\ Y</b>	EA	12	\$2,417.99	\$29,015.88	\$5,060.00	\$60,720.00	\$3,800.00	\$45,600.00

\$59,673.87

FRN F-1386 Page 4 of 7

\$138,319.50

\$91,275.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE PAVING IMPROVEMENTS FOR CARTWRIGHT MAYS, PHASE 1 AND FM 148 KAUFMAN COUNTY FRESH WATER SUPPLY DISTRICT NO. 7A CITY OF CRANDALL E.T.J., KAUFMAN COUNTY, TEXAS SEPTEMBER 4, 2024 LJA ENGINEERING, INC. S.BOOTH SEPTEMBER 4, 2024

5) TISEO PAVING

6) MIDKIFF HOLDINGS LLC DBA GM

				.,		٠,			RUCTION
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
BIDDING SUMN	MARY								
SUBTOTAL A. F	PAVING IMPROVEMENTS				\$965,859.12		\$1,015,626.95		\$989,662.85
SUBTOTAL B. F	FM 148 TX-DOT IMPROVEMENTS				\$506,712.19		\$524,174.40		\$638,091.70
SUBTOTAL C. I	MISCELLANEOUS IMPROVEMENTS				\$68,000.00		\$88,700.00		\$91,200.00
TOTAL AMOUN	NT BASE BID				\$1,540,571.31		\$1,628,501.35		\$1,718,954.55
	<u>- FM 148 TX-DOT IMPROVEMENTS</u> TERNATE I - FM 148 TX-DOT IMPROVEMENTS				\$59,673.87		\$138,319.50		\$91,275.00

4) L.H. LACY COMPANY, LTD.

NTD307A-0061D

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE PAVING IMPROVEMENTS FOR CARTWRIGHT MAYS, PHASE 1 AND FM 148

KAUFMAN COUNTY FRESH WATER SUPPLY DISTRICT NO. 7A

CITY OF CRANDALL E.T.J., KAUFMAN COUNTY, TEXAS

SEPTEMBER 4, 2024

LJA ENGINEERING, INC.

S.BOOTH

SEPTEMBER 4, 2024

NTD307A-0061D

# 7) MARIO SINACOLA & SONS EXCAVATING,

ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST						
A. PAVING IMPROVEMENTS											
1 6" REINFORCED 3,600 2 6" LIME STABILIZED S 3 HYDRATED LIME (36) 4 5' WIDE CONCRETE S 5 BARRIER FREE RAMF 6 BARRIER FREE RAMF 7 BARRIER FREE RAMF 8 TYPE III BARRICADE 9 CONCRETE PAVEMEI 10 STOP SIGN 11 REGULATORY SIGN 12 STEET SIGN NAME BI 13 STREET SIGN POLES	LB/SY) SIDEWALK (4" THICK) P (TYPE 1) P (TYPE 2) P (TYPE 3) NT HEADER	SUTTER SY SY TON SY EA EA EA EA EA EA EA EA	14571 15534 280 300 9 7 1 4 4 4 14 2 16	\$59.00 \$4.00 \$360.00 \$58.00 \$3,500.00 \$3,500.00 \$1,500.00 \$70.00 \$70.00 \$160.00	\$859,689,00 \$62,136.00 \$100,800.00 \$17,400.00 \$31,500.00 \$24,500.00 \$3,500.00 \$2,000.00 \$2,000.00 \$2,000.00 \$40.00 \$2,560.00 \$6,640.00						
A. PAVING IMPROVEMENTS	SUBTOTAL:				\$1,117,845.00						
B. FM 148 TX-DOT IMPROVI	EMENTS										
5 4" TYPE C HMAC 6 8" FLEXBASE (TY-D G 7 SUBGRADE WIDENIN 8 DOUBLE 6" SOLID YE 9 6" SOLID WHITE STRI	STING 2" HMAC  M NO. 3 & DRIVEWAY REPLACEMENTS)  SR 1-2) G (ORDINARY COMPACTION) LLOW STRIPE W/ TYPE II-A-A MARKERS IPE IPE W/ TYPE 1-C MARKERS STRIPS PAVEMENT MARKING PAVEMENT MARKING JARKING LANCHOR SYSTEM I & ANCHOR SYSTEM	AC SY CY SY SY SY LF LF LF EA EA EA EA	5 527 1790 706 2602 2954 2954 3570 4107 1402 4282 2 4 6 2	\$1,700.00 \$60.00 \$55.00 \$115.00 \$60.00 \$45.00 \$5.00 \$2.25 \$3.35 \$2.75 \$165.00 \$165.00 \$470.00 \$485.00 \$60.00	\$8,500.00 \$31,620.00 \$99,450.00 \$11,90.00 \$158,120.00 \$132,930.00 \$17,70.00 \$17,850.00 \$9,240.75 \$4,696.70 \$11,775.50 \$330.00 \$660.00 \$1,050.00 \$970.00 \$120.00						
B. FM 148 TX-DOT IMPROVE	EMENTS SUBTOTAL:	•			\$601,212.95						
C. MISCELLANEOUS IMPRO	OVEMENTS										
1 MOBILIZATION 2 PERFORMANCE AND 3 MAINTENANCE BOND	PAYMENT BONDS - 100% (2YR - 100%)	LS LS LS	1 1 1	\$75,000.00 \$19,000.00 \$500.00	\$75,000.00 \$19,000.00 \$500.00						
C. MISCELLANEOUS IMPRO	VEMENTS SUBTOTAL:		▼		\$94,500.00						
ALTERNATE I - FM 148 TX-L	DOT IMPROVEMENTS										
1 REMOVE 24" REINFO 2 24" REINFORCED CO 3 REMOVE 24" SET-PD 4 24" SET-PD	RCED CONCRETE PIPE CULVERT NCRETE PIPE CULVERT	LF LF EA EA	195 195 12 12	\$50.00 \$200.00 \$1,000.00 \$3,000.00	\$9,750.00 \$39,000.00 \$12,000.00 \$36,000.00						
ALTERNATE I - FM 148 TX-D	OOT IMPROVEMENTS SUBTOTAL:				\$96,750.00						

Page 6 of 7 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE PAVING IMPROVEMENTS FOR CARTWRIGHT MAYS, PHASE 1 AND FM 148 KAUFMAN COUNTY FRESH WATER SUPPLY DISTRICT NO. 7A CITY OF CRANDALL E.T.J., KAUFMAN COUNTY, TEXAS SEPTEMBER 4, 2024 LJA ENGINEERING, INC. S.BOOTH

SEPTEMBER 4, 2024 NTD307A-0061D

7) MARIO SINACOLA & SONS EXCAVATING,

INC.

ITEM DESCRIPTION UNIT QTY UNIT COST TOTAL COST

## **BIDDING SUMMARY**

SUBTOTAL A. PAVING IMPROVEMENTS SUBTOTAL B. FM 148 TX-DOT IMPROVEMENTS SUBTOTAL C. MISCELLANEOUS IMPROVEMENTS

TOTAL AMOUNT BASE BID

ALTERNATE I - FM 148 TX-DOT IMPROVEMENTS
SUBTOTAL ALTERNATE I - FM 148 TX-DOT IMPROVEMENTS

\$1,117,845.00 \$601,212.95

\$94,500.00

\$1,813,557.95

\$96,750.00

FRN F-1386 Page 7 of 7 LJA Engineering, Inc.